Rutherford's Model of the Atom

What Rutherford expected:

What Rutherford saw:

Most of the alpha particles passed _________ through as expected because he knew that there is __________ spaces between atoms.  

However some alpha particles ___________ to the side and some even bounced __________ back.

He then concluded that there must be something in the atom that was very ________, __________ charged and _______ _________.

To explain his results he developed the: 

Nuclear Model of the Atom 
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Rutherford also reasoned that there is something else in the nucleus of the atom that had the ______ mass of a proton but __ ______.  These particles were later known as __________.

Although Rutherford's Model was accepted it did not agree with "_____ _____ ____ __________ __________".  Which states, "opposite charges attract and like charges repel".

Therefore, the __________ orbiting the nucleus should be _________ to the nucleus and eventually _________ into the nucleus.

Bohr Describes Electron Shells

A Danish scientist ______ ________ looked at the hydrogen atom and the light it produced in a gas discharge tube.  From his results he inferred that the electrons ____ _____ fall into the nucleus because they were in __________ _________.  The location of the electrons was dependent on how much __________ the electron had.  

This Model of the atom is known as the Bohr-Rutherford Model

For Example:

